
SAP ABAP table MSEGK {Account Assignment Fields for Material Segment}

MSEGK

BWART [CHAR (3)]

SOBKZ [CHAR (1)]

KONTO [CHAR (10)]

LIFNR [CHAR (10)]

KUNNR [CHAR (10)]

KDAUF [CHAR (10)]

EBELN [CHAR (10)]

KOSTL [CHAR (10)]

AUFNR [CHAR (12)]

ANLN1 [CHAR (12)]

UMMAT [CHAR (18)]

UMWRK [CHAR (4)]

UMLGO [CHAR (4)]

ANBWA [CHAR (3)]

PS_PSP_PNR [NUMC (8)]

NPLNR [CHAR (12)]

VPTNR [CHAR (10)]

PARGB [CHAR (4)]

PARBU [CHAR (4)]

RECID [CHAR (2)]

ANLH

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

ANLN1 [CHAR (12)]

 MSEGK-ANLN1 = ANLH-ANLN1 
0..N

0..N

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 MSEGK-AUFNR = AUFK-AUFNR 

0..N

0..N

 MSEGK-NPLNR = AUFK-AUFNR 0..N

0..N

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 MSEGK-KOSTL = CSKS-KOSTL 
0..N

0..N

EKKO

MANDT [CLNT (3)]

EBELN [CHAR (10)]

 MSEGK-EBELN = EKKO-EBELN 
0..N

0..N

KNA1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

 MSEGK-KUNNR = KNA1-KUNNR 

0..N

0..N

 MSEGK-VPTNR = KNA1-KUNNR 0..N

0..N

LFA1

MANDT [CLNT (3)]

LIFNR [CHAR (10)]
 MSEGK-LIFNR = LFA1-LIFNR 

0..N

0..N

MARA

MANDT [CLNT (3)]

MATNR [CHAR (18)]
 MSEGK-UMMAT = MARA-MATNR 0..N

0..N

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]
 MSEGK-PS_PSP_PNR = PRPS-PSPNR 

0..N

0..N

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 MSEGK-KONTO = SKA1-SAKNR 

0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 MSEGK-PARBU = T001-BUKRS 

0..N

0..N

T001L

MANDT [CLNT (3)]

WERKS [CHAR (4)]

LGORT [CHAR (4)]

 MSEGK-UMLGO = T001L-LGORT 

0..N

0..N

T001W

MANDT [CLNT (3)]

WERKS [CHAR (4)]

 MSEGK-UMWRK = T001W-WERKS 

0..N

0..N

T148

MANDT [CLNT (3)]

SOBKZ [CHAR (1)]

 MSEGK-SOBKZ = T148-SOBKZ 

0..N

0..N

T156

MANDT [CLNT (3)]

BWART [CHAR (3)]

 MSEGK-BWART = T156-BWART 

0..N

0..N

T8JW

MANDT [CLNT (3)]

RECID [CHAR (2)]

 MSEGK-RECID = T8JW-RECID 

0..N

0..N

TABW

MANDT [CLNT (3)]

BWASL [CHAR (3)]

 MSEGK-ANBWA = TABW-BWASL 

0..N

0..N

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 MSEGK-PARGB = TGSB-GSBER 

0..N

0..N

VBUK

MANDT [CLNT (3)]

VBELN [CHAR (10)]

 MSEGK-KDAUF = VBUK-VBELN 

0..N

0..N


